3 (Sem—4/CBCS) ECO HC 1

2023

ECONOMICS
( Honours Core )
Paper : ECO-HC4016

( Intermediate Microeconomics—II )

Full Marks : 80

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions : 1x10=10
S 2R e ford

(a) Write one use of Edgeworth box
diagram.

ey I (I35) foaq b1 IR o |

(b) What is contract curve?
e @ 9
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2)
(3)
(c) Define pure public good.
oS e T S—— 2. Answer the following questions : 2x5=10
N\ . ¢ C
T oA e o
(d) What is degree of monopoly power?
oo Tere e T e 2 (@) Define two types of externality.
% o RO T e 1
e) In which market, there is selling cost?
@ IS R T4 AWF? (b) Distinguish between perceived demand
and proportionate demand.
() What is meant by strategy of a game? : “
HeS SR Wﬂ"(ﬁ%ﬁ PRAR e Al
99 (¥R (P e R T ? 1
(g) Define signalling in a market. : .
— ST T o | (c) Define Cournot’s oligopoly model.
Fa5q wfeter«ifer =B it v
(h) What is duopoly market?
e o[ R ? (d) What is market efficiency?
() What is meant by asymmetric TR Tl &1
information?
Wi o o & 3@ ? | (¢) Distinguish between minimax and
. maximin strategies in game theory.
() What is non-zero-sum game? : < o BT T G GRS
o - o 17 ; iefees fore |

A23/852 ; |
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(4)

3. Answer any four of the following questions :

wq AR R @I wifkeR Tt forn

(@)

()

()

(@)

(e)

A23/852

5x4=20

Explain the concept of production
possibility frontier.

e STBIReT (Y[ YRATCHT [1=7 41 |

What are the characteristics of public
goods? Explain.

Jreredl WA CAPEPTR & 6 2 I

Explain Lerner’s measure of degree of
monopoly power.

FRART GO ST T@ IR THfCH
L 90

Explain how the saddle point is
obtained in a two-person zero-sum

game.
R-RE - (R o Ry @
Tord o, IR

Explain the concept of dumping in

a market.
JEHRS CIPIE LIKETCHT I F9 |

( Continued )

0

4. Answer the following questions :

(5)

Is price discrimination under monopoly
desirable? Support your answer.

GO ITRS T RSN FEA 2 O
Tegq oI IS vl |

10x4=40

ol 2R T ford

(@)

(b)

A23/852

Explain the conditions for Pareto
optimality.
€T3 ST YRR TSR 00 317 |

or / 7@

Explain why there is no supply curve
under monopoly. Briefly explain any
two methods of regulating monopoly
power. 4+6

GFO0A TS @ @ ¥ A, ;m
01 oo e Frge ¥R R @ g
TS ST I 1 |

10

Explain diagrammatically the Bertrand’s
model of duopoly equilibrium.

WG IR SR DT e szEs
[ 0|
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(6)

Or / gl

Explain how a firm under monopolistic
competition attains equilibrium both in
the short and long run.
GFRFR AN ITTS 9B AfGBCA (T
TREN WF THEE SRTel de 906,
¢ 991 1

(c) Write notes on adverse selection and

moral hazards which may arise due to

information asymmetry with examples.
5+5=10

AR 10 TS TUR IR0 Teofa (Rl
sfger e oI (Afes Refe eime G
forat 1
Or / g

Explain the market equilibrium process
in case of a multi-plant monopoly.
AfHIFT  GFELT RS IWE S
fadraer aifeman =m0 |

(d) Diagrammatically explain how

externalities in  production and
consumption lead to market failure.

TeomE WE (SIR ARTOR @A IR
faerer 2 3, OGT =S [0 377 |

A23/852 ( Continued )

(7)

Or / 7

Explain how optimum  resource
allocation can be obtained with the
help of production possibility frontier
and social indifference curve.

- e SISl @41 S AES FEerE @R
HAce Adrey R ot @FemE Toea =,

TR <41 |

* kX
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ECONOMICS

( Honours Core )

Paper : ECO-HC-4026
( Intermediate Macroeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

1. Answer the following questions : 1x10=10
OO ePPTRd e faa

(@) What is endogenous growth?
wwEie R 9

() Mention one assumption of Solow
model.

v'a SR b1 SfSyRen SoEe 0 |
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(c)

(d)

(e)

(9)

(h)

A23/853

(2)

“Consumption function expresses the
relationship between consumption and
investment.” Is it true?

“oorel TE ol S [fFceR e ST ,
2F FCq 177 G O ? |

Who introduced the permanent income
hypothesis?

BT S SEECH! (I TOIa afRe ?

What is inventory investment?

wraE [ 2

What is monetary policy?
@l A 12

What is time consistency of monetary
policy?

@1 e o A=en [ 2

“Central bank of a country prepares
its fiscal policy.” Is it true or false?

“oM 99T @I @e TR R TS awe
FE N G A 7 ST 9

( Continued )

()

0)

2. Answer the following questions :

(3)

Mention one classical assumption.

BT AT SfeyEen SrEy 4 |

Name one new-Keynesian economist.

& -0 SR 7 {4 |

2x5=10

wete fi eppTRd Ted e

(@)

(b)

(c)

(d)

A23/853

Mention two limitations of Harrod-
Domar model.

IR W 1 Tt Tees 4 |

Mention two assumptions of rational
expectation hypothesis.

FETore el S o SfedEel e
390 '

What is  meant by residential
investment?
iR R e & g@m o
Mention two objectives of monetary
policy.
@1 feq 71 Toaen SeEd 41

( Turn Qver )



(4)

(e) Mention two features of new classical
thoughts.

3 TIPS SRYRIR 51 CaME Sead 4 |

Answer any four questions from the
following : 5x4=20

were fRPEE o1 R @ B! ere e o

(a) Explain the limitations of Solow model.
T’ SRR FARROPE IR 4 |

(b) Explain the technical attributes of
Keynesian consumption function.

DN €17 T PR QPR I FA 1

(c) Briefly explain the random walk of
consumption expenditure.

co1e T AOLF (& SYLF 0T 3+ |

(d) Explain the main determinants of
demand for money.

wsﬂﬁﬁﬁmﬁwmw,

A23/853 ’ ( Continued )

(S)

(e) Distinguish between active and passive
monetary policies.

Ay S FErE @ Ares e o Ay
T

() How did Keynes differ from the
classicists? Explain.

P aRfsRmReTee @FP 2o 3% ?
M I

4. Answer the following questions : 10x4=40

woTe il eppEs e fr

(a) Cntlcally discuss the Harrod-Domar
growth model.
@’T-TE Rem il AL RIS
HICAA F41 |
Or / |41

Discuss the relationship between
technological progress and elements of

endogenous growth.
e wafs W SesRe  Rerw
BoIPTRY Trerd 7 oA 1 |

A23/883
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(b),

(c)

(@)

A23/853

(6)

Discuss critically the permanent income
hypothesis.

TN AR IOl FCAGAT T AL
T

Or/ 91

What are the determinants of business
fixed investment? Discuss.

3y &9 e Pz & 1 2 scamn
01

Critically discuss the Keynesian
consumption function.

@Wﬂ@ﬂmwmw
9 '
Or/ 931

Discuss the ‘government budget
constraint’.

‘531 AICTG I TG FT |

Discuss different types of government
debt. What is Ricardian equivalence?

7+3=10
veerl ¥ ReA eRRmR e w0
1Sy el 6 2

( Continued )

A23—3000/853

(7)

Or / Jq<=1

Discuss the main features of classical
school of macroeconomic thought.

B WLAST SR FKEPrS oMb
(APBPTR SICaAs=T 3441 |

* % %
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ECONOMICS

( Honours Core )

Paper : ECO-HC-4036
( Introductory Econometrics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions : 1x10=10
G ST B i -
(@) Write the formula for normal
distribution.

e RS9 @1 for |

(b) Which test is used to test the association
of attributes?

CaRiER wienef 8w IR R <R J9T T
7
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(2) (3)

() What is ordinal scale? 2. Answer the following questions : 2x5=10
TR T 2 R ST b oA
(d) Define coefficient of determination. (a) Write two properties of F-test.
RSCRECI R R T F-=Rrmer o1 ¢ foran
() What does E(y;) =0 mean for random | ) (b) What are the two uses of t-test?
term in a regression line? -4 TR o1 IRTA foran o
O TR M TR AReRR (c) When does binomial distribution tend to
E(w;)=0 aRpr? : normal distribution?
() What is type-I error? e WA R et @ M Ress e
l’
Type-1 &6 & 2 A
. (d) Distinguish between one-tailed test and
(g) Define confidence interval. two-tailed test.
SO SR e faa | GF-CTERMAR WIF R-GEREE AR T
: el for |
(W) What is multicollinearity?
8- 2 (e) Write the full form of BLUE.
BLUER 9 SIRPReH! fort |
() When does heteroscedasticity arise?
ReaRvew fom Tea o 3. Answer any four of the following questions :
‘ 5x4=20
() What is the difference of Binomial and | TR PTG SR e i :
Poisson distribution about mean and |
variance? (a) Define power of a test. What are the
various steps of hypothesis testing?
WA SF m Retm Ty
onefer 2 SIF PR AR FIOR g Frn | oFw AR RAdw

TIEA fon |
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(4)

(b) Write a short note on forecasting.

fferT 8o[® W oY G o |

(c) The life of an electric bulb for a random
sample of 10 from a large consignment
gave the following data :

Kem :1 2 3 4 5 6 7 8 9 10

Life :46 4 39544238 3 4456 6
(in 000 hours)

Can we accept the hypothesis that the
average lifetime of bulbs is 4000 hours?

9B q2& APT I AT cwa o feRe-
S 1061 IET Qe woe fm e o
RICIF '

@w :1 2 3 4 56 7 8 9 10

Sige7 : 46 4 39 54 42 38 3 44 56 6
('000 ¥%1S)

T TS SERE 4000 W P R a7
oA ? AT 4 |

(d) Explain the differences between auto-
correlation and multicollinearity.

T I R qwS
ST 4 |

(5)

(e) Explain the method of measuring the
goodness of fit in a multiple regression
model.

7% A W] Teg @ R FIR AaR!
I F4T

() How can the inclusion of irrelevant
variable create problem in regression
analysis? Discuss. :

et Remre Sk el Segfed
AR T R R NI, S F40

4. Answer the following questions : 10x4=40
o 2PPIRd Bed fian -

(@) In a two-variable linear regression model
Y, =a+BX, +u;, where o and f are
parameters and u, is stochastic term,
find the mean and variances of & and B,

where & and f are estimates of & and B. 10

Y, =0 +BX; +u, B R GRS TR
¥, TS o TF B A6 [ A u, T W H,
& W% B3 7T W PR SRisw TS & W B
3'd o HF fI T |

Or / 9l
Explain the methods of detecting multi-

collinearity. How can the problem of
multicollinearity be solved? 6+4=10

A23/854 A23/854 ( Turn Over )
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(b)

A23/854

(6)

W-IDTTR 1 TR Y& SE™ I 91 | I%-
ST AP (PR TN FRI 1R 2

From the following table, find the
coefficient of determination of the
regression line Y =a+bX +u :

Tod OfeRIad A4l KSR R0 Sfereqr e
TP @ACEA Y =a+bX +u:

Yy : 10 18 16 20 26
X : 10 20 30 40 50

Or / =4

Explain different types of hypothesis.

What are the properties of

F-distribution? A survey of 240 families
with 4 children each revealed the
following distribution :

No.ofboys : 4 3 2 1 0
No. of families : 10 55 105 58 12

Is the result consistent with the
hypothesis that male and female births
are equally probable?

(Given that P(xg >a) =005, where x'z1

follows Chi-square distribution with nd.f
and a =781, 949, 1107 when n = 3 4 5

respectively) 2+3+5=10

( Continued )

10

(7))

ao5d RS ooRER” I ¥ FReRw’
ARBIEAR 3 7 24001 4RAETS 451LF TBFI 9O
ST o7 1 4 RS ¢ o'

F'Iq WKW : 4 3 2 i 0
qRmFa Ty : 10 55 105 58 12
o+ F IR TR A T (AR AT

ARF I ?
(fm W= P@x2 >a)=005, ¥T 2 ¥F

Chi’ RE¥ n ToF TR XS W
a=7-81, 949, 11-07 AN nFA 3, 4, 5)

(c) Explain the consequences of auto-
correlation on OLS estimation. How can
autocorrelation be corrected? 4+6=10

OLS YRoMe FHR-TOTER Tl I
T | G TP TS SR AR 2

Or / %l

A random sample of 5 families yields the

following data :

Family : A B C D E

Savings (S)(000) : 6 12 10 7 3

Income (Y) ('000) 8 10 9 6 6

' No. of children(N) : 5 2 1 3 4

Estimate the regression line of S on Y

and N. 10
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(8)

wore fa 56 SfRIeR e (S), WF (V) e
S IR (N) ©IR *[1 IBFSIR Y &F N
SR ST TRET [ o :

43T : A B C D E
7| (S)C000) ¢ 6 12 10 7 3
gF{Yy)(000) : 8 10 9 6 6
AT BP(N) : S 2 1 3 4

(d) Explain the concept of errors in variable
in OLS estimation. Briefly explain various
methods to solve the problem of errors in
variable in such estimation. 4+6=10
OLS WS 5o/eq Fiod 4IACH I 3 |
@R SRS SO TR SISERE R SHE
YT SCASA 1 |

Or / 9e1

Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy
variable in seasonal analysis? Explain.

5+5=10

UIoe M RIS a1} '3 RREE voe
@ TR T/, I 01 i
Remr crae RARAR e R IR
7 HCAA 91 |

* % %
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